Sthims-Polisens BS
Partavling 2020-10-14

Partavling, 6 bord, 11 par. Antal brickor: 27. Medel: 108.0. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 2 141.8 65.63 Mats Bjorling - Ake Lagerlof 89603 2302 BK S:tErik - Sthims-Polisens BS
2 3 120.4 55.73  Anna Sandquist - Ingemar Klera 5766 9108 BK S:t Erik
3 1 117.0 54.17  Sten Lindback - Biérn Torbiérnsson 2143 8462  Sthims-Polisens BS - Trosa BS
3 12 117.0 54.17  Johan Dahlin - Lennart Eriksson 39018 2288  Sthims-Polisens BS
5 6 114.8 53.13  Annette Lindberg - Lilly Sturesson 12158 2308 BK S:t Erik - Sthims-Polisens BS
6 9 110.3 51.04 Hans Svensson - Kennet Samuelsson 66238 66237 Sthims-Polisens BS
7 8 104.6  48.44 Magdalena Ginste - Borje Karlsson 83512 2290 BK S:t Erik - Sthims-Polisens BS
8 11 100.0 46.30 Eva Benckert - Ann-Marie Johansson 22867 58367 BK S:t Erik - Sthims-Polisens BS
9 7 91.1 42.19 Margareta Erkers - Gunnar Erkers 57855 33322 BK S:tErik
10 5 86.6 40.10 Lisbeth Solberg - Erik Wall 22357 17069 BK Tva Ess
11 4 84.4 39.06 Lars Magnusson - Christer Thunvik 11245 2287  Sthims-Polisens BS
1 465 2 « Kn86 3 a3
Nord v DKn6 Ost vKD10862 Syd v Kn10976
Ingen ¢ 752 NS ¢ED ov ¢ DKn10
#108532 &EK K843
4K943 D72 «D3 4 E109542 4 KKn1098 4654
vE1092 vK4 vKn943 vE7 vD43 v8
¢ KKn8 ¢ ED109 +1064 ¢52 ¢ E95 + 876
*76 #ED9%4 #D1086 #543 *76 #EDKn1092
4 EKn108 4 K7 4 ED72
v 8753 v5 v EK52
4643 ¢ KKn9873 ¢ K432
#KKn #Kn972 *5
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
2 5 3NO= L) -400 4.0 40| 2 5 3NS+1 4Q 630 80 00| 2 5 4vS= aK 420 50 3.0
3 11 3NO= aT -400 4.0 40| 3 11 3NN= 49 600 50 30| 4 9 4vsS= 48 420 50 3.0
4 9 3NO= 48 -400 4.0 40| 6 8 5¢ S= +Q 600 50 3.0| 6 8 4v N= 46 420 50 3.0
6 8 3NO= aT -400 4.0 40| 4 9 4v N-1 s A -100 1.0 7.0| 7 12 4v N= a5 420 50 3.0
7 12 3NO= 48 -400 4.0 40| 7 12 4v N-1 s A -100 1.0 7.0| 3 11 4v N-1 46 -50 0.0 8.0
-1 43| - 1 43| - 1 4.3
4 4« K93 5 « EKn86 6 487642
Vast v 10973 Nord v DKn97 Ost vKn53
Alla ¢ Kn9 NS + D75 ov +D3
#E976 &K3 #653
4 Knl08 &D754 2 K973 4D10 & K3 4 E9
vKn62 ¢85 v K53 v E862 vD1082 v EK97
¢ 742 ¢ E5 ¢ EKn93 ¢ 1042 ¢ E1075 ¢ K964
#DKn32 #K10854 #DKn #9864 *E92 «Kn104
4 E62 4542 4 DKn105
v EKD4 v 104 v64
¢+ KD10863 + K86 ¢ Kn82
»- #E10752 #KD87
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
3 6 6vyS= 45 1430 80 00| 3 6 INS+1 a7 120 8.0 00| 8 12 4v O +1 4Q -650 7.0 1.0
5 1 4v N+2 43 680 6.0 20(11 4 240-2 vT 100 6.0 2011 4 4v O+l 4Q -650 7.0 1.0
11 4 3¢ S+3 4] 170 40 40| 8 12 2v N-1 4Q -100 4.0 40| 3 6 3NO+2 4Q -660 3.0 5.0
7 9 2NN= *4 120 20 60 7 9 INN-2 *4 -200 2.0 6.0 7 9 3NO+2 4Q -660 3.0 5.0
8 12 3NN-1 &5 -100 0.0 80| 5 1 3#S-3 43 -:300 0.0 80| 5 1 4v O+2 4Q -680 0.0 8.0
-2 53| - 2 53| - 2 5.3
7 « D83 8 4 K10875 9 .-
Syd v EKn87654 Vast v 7542 Nord vD10643
Alla +D9 Ingen +8 ov + EK3
&4 #Kn42 #Kn8752
4 EKKn1076 &- 4ED42 4Kn3 4 K743 4 Kn9862
v- v KD93 v93 v KKn10 v K987 ¢52
4107532 + EK4 ¢ KKn3 ¢ E10962 4952 ¢ Kn1087
#Kn3 #EKD1075 #KD108 #E95 #63 KD
49542 496 « ED105
v 102 v ED86 v EKn
+ Kn86 ¢+ D754 + D64
#9862 763 #E1094
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
12 9 5¢ V+1 &4 -620 8.0 00| 4 7 3NV+1 45 430 4.0 40| 5 11 3NN+2 .7 460 8.0 0.0
5 11 3NQO+2 vT -660 6.0 20| 5 11 3NV +1 45 430 4.0 40| 4 7 4v S+1 *6 450 6.0 2.0
4 7 3NO+3 vT 690 4.0 40| 6 2 3NV+1 a5 -430 40 40| 6 2 3NS+1 a4 430 3.0 50
6 2 640= vT -1370 1.0 7.0 8 1 3NV+l 45 430 4.0 40|12 9 3NS+1 v7 430 3.0 5.0
8 1 640= vT -1370 1.0 7.0|112 9 3NV+1 45 -430 4.0 40| 8 1 6NS-3 +9 -150 0.0 8.0
- 3 45 - 3 45 - 3 4.5
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10 « ED7 11 «D 12 48
Ost vD72 Syd v 974 Vast v EKD1098432
Alla + K8 Ingen 4 K9853 NS +9
& EKKn64 #DKn96 K4
410964 4 KKn32 « E5432 4Kn8 & EKKN1095 #4
v EK1094 v Kn865 vEK105 vD63 v Kn65 v-
4962 ¢ E75 ¢ DKn + E1064 + 1062 + ED8743
+10 #92 #K10 #8753 *7 #EDKnN985
85 « K10976 4 D7632
v3 v Kn82 v7
¢ DKn1043 ¢ 72 ¢ KKn5
#D8753 &E42 #10632
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 11 3NN= v8 600 70 10| 6 11 24 V= *Q -110 8.0 00| 7 3 5vyN-= Ly 650 8.0 0.0
7 3 5&N= ¢A 600 70 10 9 2 2NO= 49 -120 6.0 20| 1 12 44DO-2 ©vA 300 6.0 2.0
5 8 3¢ S+2 vA 150 40 40| 1 12 24 V+1 *Q -140 3.0 50| 5 8 3vyN= a4 140 40 4.0
1 12 3NN-1 v4 -100 1.0 70| 5 8 3vV= *J -140 3.0 50| 6 11 5v N-2 Ly -200 2.0 6.0
9 2 5&N-1 v5 -100 1.0 70| 7 3 3¢DN-3 48 -500 0.0 80| 9 2 5¢V= vA -400 0.0 8.0
- 4 31| - 4 31 - 4 3.1
13 « EKKn8 14 K82 15 « Kn1096
Nord v73 Ost v EKn5 Syd v K96
Alla + D104 Ingen *+ K NS ¢ Kn53
D983 #ED10763 #965
4 D10765 49432 4106543 & DKn7 4852 s E7
vKDKn42 v95 v 9876 v 1042 v3 v ED875
¢ 75 + EK8632 ¢+ D106 + 8753 ¢+ D74 + 10962
&4 *5 *9 #KKn4 #EDKn1082 #74
@- «E9 4 KD43
v E1086 vKD3 vKn1042
¢ Kn9 ¢ EKn942 + EK8
&EKKN10762 #3852 K3
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 9 4NN+1 ¢ A 660 70 10| 2 12 4NS= 43 430 70 10({11 7 34S-1 v3 -100 8.0 0.0
8 4 3NN+2 +3 660 70 10| 8 4 3NS+1 43 430 70 10| 6 9 3&V= aJ -110 6.0 2.0
2 12 5 S+1 vK 620 40 40|11 7 5#N-= +Q 400 40 40| 1 3 2e#V+2 s -130 3.0 5.0
1 3 5&4S= vK 600 20 60 6 9 6#N-1 L) 50 20 60| 8 4 3a&V+1 ] -130 3.0 5.0
11 7 34 S+l *7 130 00 80| 1 3 7NDS-2 9 -300 0.0 80| 2 12 24DV +2 & -380 0.0 8.0
- 5 32| - 5 32| - 5 3.2
16 #1075 17 « D103 18 476
Vast vD Nord v EKD64 Ost vE876
ov ¢+ DKn1093 Ingen 443 NS ¢ Kn543
#E763 #EKn9 #D63
4864 492 4964 & EK82 4 KD32 #EKn9%4
v943  vKKn10876 v 102 v 9873 vKn4 v K10
¢ EKG5 +8 ¢ EKn7 +8 ¢+ KD108 ¢ E7
#1054 #KDKn9 #D10853 #K742 K105 &EKn874
« EKDKn3 & Kn75 #1085
vE52 vKn5 v D9532
¢ 742 + KD109652 4962
82 &6 92
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 4 34S+1 *A 170 70 10| 8 11 3NN= s A 400 70 10 9 5 640-1 v4 50 8.0 0.0
12 3 34 S+1 *+ K 170 70 10| 9 5 3NN= s A 400 70 10 2 4 540= v2 -450 6.0 2.0
7 1 34S= ¢ A 140 40 40| 2 4 4vyN-1 s A -50 3.0 50| 8 11 44 O+2 v3 -480 4.0 4.0
8 11 34 S-1 v3 50 2.0 6.0/12 3 3NN-1 s K 50 3.0 50| 7 1 44 V+3 46 -510 1.0 7.0
9 5 2v0+1 s A -140 0.0 80| 7 1 4v N-2 s A -100 0.0 80|12 3 54 O+2 +6 -510 1.0 7.0
- 6 431 - 6 43 - 6 4.3
19 473 20 « E7632 21 4 K5
Syd v EK32 Vast v2 Nord v KKn842
oV ¢ E974 Alla ¢ K105 NS ¢+ E98
&#Kn42 #E1094 £K76
4D10542 - 1094 4 K8 410 & ED943
vKn874  vD1096 vEKD93 vKnl10754 v 1063 vD
¢ Kn103 ¢ D865 ¢+ E8 + D96 ¢ K10542 ¢ D63
+10 #KD876 #753 #KD6 #ED105 #8432
« EKKN986 #« DKn5 « Kn8762
v5 v 86 vE975
* K2 ¢ Kn7432 ¢ Kn7
#E953 #Kn82 #Kn9
Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang
9 11 44 S= &T 420 80 00| 3 5 3vV+2 v2 -200 8.0 00| 3 5 2v N+2 +3 170 8.0 0.0
3 5 3NN= vT 400 50 30| 1 6 4vV= LY -620 4.0 40| 4 12 2v N+1 *2 140 5.0 3.0
4 12 3NN= *K 400 50 3.0 4 12 4v V= LY 620 4.0 40| 9 11 2v N+1 3 140 5.0 3.0
1 6 44 S-1 &T 50 1.0 7.0| 9 11 4v V= *A -620 4.0 40| 8 2 2vN= +3 110 2.0 6.0
8 2 44S-1 *J 50 10 7.0 8 2 4vV+1 s A -650 0.0 80| 1 6 3vN-1 +3 -100 0.0 8.0
-7 34| - 7 34| - 7 3.4
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22 « Kn10 23 104 24 & KDKn97
Ost vKD103 Syd v Kn963 Vast v D62
ov ¢ 5432 Alla 4 965 Ingen + 1075
#Kn109 #DKn53 #109
49 & EK752 «ED863 475 484 4 E3
v 864 v E52 v72 vKD v73 v EKKn5
¢ED + 1087 ¢Kn732 ¢ EK10 + K9643 ¢ EKn8
#KD65432 #87 &E6 #K98742 #7432  #DKn86
« D8643 & KKn92 410652
v Kn97 v E10854 v 10984
+ KKn96 + D84 ¢+ D2
&E +10 &EK5
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
2 7 2NO-2 +9 200 80 00| 5 12 3NO-2 v4 200 70 10 9 3 3NO-3 *A 150 7.0 1.0
4 6 3#V= vK -110 6.0 20|11 1 44V-2 oT 200 70 1011 1 3NO-3 *A 150 7.0 1.0
5 12 44 V= aJ -130 3.0 50| 2 7 440-1 vA 100 30 50| 2 7 2NO-2 a2 100 40 4.0
9 3 3&V+l vT -130 3.0 50| 4 6 3NO-1 v4 100 30 50| 5 12 34 N-2 vA -100 2.0 6.0
11 1 3NO+1 v7 -630 0.0 80| 9 3 3NV+2 *3 -660 0.0 80| 4 6 3¢ V= &K -110 0.0 8.0
- 8 39| - 8 39| - 8 3.9
25 « D7532 26 « D7 27 106
Nord v Kn965 Ost vK764 Syd vE754
ov 493 Alla ¢ E83 Ingen + E1087
#96 #DKn98 &Kn72
484 4« Kn6 4 KKn854 &10632 4 Kn9853 4 K74
vE108 vK732 v Kn9 vD1053 v D83 v K10962
¢ EDKn5 ¢ K1074 + K9 + Kn6 4964 + DKn3
#Kn875 #K32 #E1076  #K32 K4 #105
« EK109 «E9 « ED2
vD4 vE82 vKn
¢ 862 + D107542 ¢ K52
&ED104 &54 #ED9863
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 4 24 S+2 3 170 80 00| 1 4 3¢S+l vJ] 130 80 00| 5 7 3NN+1 v6 430 7.0 1.0
2 11 24 S+1 *7 140 50 30| 2 11 3¢ S= vJ 110 6.0 2012 6 3NS+1 43 430 7.0 1.0
12 6 34 S= *A 140 50 30( 5 7 34V-1 +3 100 30 50| 1 4 3v0O-3 & A 150 2.0 6.0
3 8 1¢ S-2 48 -100 1.0 70|12 6 34 V-1 ¢ A 100 3.0 50| 2 11 24 S+3 46 150 2.0 6.0
5 7 44DS-1 +¢A -100 1.0 70| 3 8 3¢ S-1 vJ -100 0.0 80| 3 8 3&S+2 4] 150 20 6.0
-9 41( - 9 41( - 9 4.1
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